
METHOD TO SOLVE NONLINEAR SCHRODINGER EQUATION BY HOMOTOPY 

PERTURBATION METHOD. 

 

One dimensional Schrodinger equation with the initial condition. 

𝑖𝑈𝑡 =  −
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𝑈𝑥𝑥−|𝑈|2  

Initial condition: 𝑈(𝑋, 0) = 𝑒𝑖𝑥 
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𝑈2 = 𝑖 ∫ (
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𝑈3 = 𝑖 ∫ (
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Exact solution: 

𝑈(𝑥, 𝑡) = ∑ 𝑈𝑛(𝑥, 𝑡)
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